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apID = arArbeitsplatz

bsx2eWert = lgID

lgID = apLiegenschaft

dsID = lgDienststelle

dsID = seDienststelle

seID = se2lgStruktureinheit

lgID = se2lgLiegenschaft

aID = apID

seID = a2seStruktureinheit

aID = a2seAufgabe dsID = aDienststelle

aID = a2roAufgabe

seID = a2roStruktureinheit

dsID = a2roDienststelle

pID = roPerson

roID = a2roRolle

bseID = lgEigentumsform

bseID = lgVerwalter
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o_arbeitsplatz

 apID
apLiegenschaft
apAufgabe
apOhneAufgabe
apBezeichnung
apNr1
apNr2
apBemerkung

 int
int
int
char(1)
nvarchar(255)
varchar(20)
varchar(20)
nvarchar(1000)

o_liegenschaft

 lgID
lgDienststelle
lgBezeichnung
lgBezeichnung2
lgPLZ
lgOrt
lgOrtsteil
lgStrasse
lgEigentumsform
lgVerwalter
lgNutzungsarten_R
lgStruktureinheiten_R
lgStruktureinheitIDs_R
lgStruktureinheiten
lgBemerkung
lgIstAktiv
lgVon
lgBis

 int
int
nvarchar(255)
nvarchar(255)
varchar(10)
nvarchar(80)
nvarchar(50)
nvarchar(50)
int
int
nvarchar(255)
nvarchar(1000)
nvarchar(1000)
nvarchar(50)
nvarchar(1000)
char(1)
datetime
datetime

o_dienststelle
(Organisation)

 dsID
dsKuerzel
dsRessort
dsBez1
dsBez2
dsBez3

 int
varchar(10)
int
varchar(255)
varchar(255)
varchar(255)

o_struktureinheit
(Organisation)

 seID
seDienststelle

 int
int

o_se2lg

se2lgID
se2lgStruktureinheit
se2lgLiegenschaft
se2lgVon
se2lgBis

int
int
int
datetime
datetime

o_aufgabe
(Organisation)

 aID
aDPNrZusatz
aDienststelle
aStatus

 int
int
int
int

o_a2se
(Organisation)

 a2seID
a2seStruktureinheit

 int
int

p_a2ro
(Arbeitszeit_OrgZuordnung)

 a2roID
a2roRolle
a2roBeschaeftigung

 int
int
int

p_rolle
(Beschaftigungsverhaltnis)

 roID
roPerson

 int
int

p_person
(Personendaten)

 pID
pPseudo
pAnonym

 int
char(1)
char(1)

bs_element
(<FLIB>)

bs_x2e
(<FLIB>)

o_ausruestung

 arID
arArbeitsplatz
arOrdnung
arVorwahl
arEinwahl
arApparat
arArt
arNichtAusweisen

 int
int
int
nvarchar(20)
nvarchar(20)
nvarchar(20)
int
char(1)
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